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A) Acronym for "the other service"
B) Acronym for "the old story"

C) Acronym for "the open system"

D) Acronym for "the outdated strategy"

Correct Answer :- A) Acronym for "the other service"

Whose rhythmic and melodic skill is revealed in the following poetic lines ?

"Sleeping safe on the bosom of the plain, cared - for till cock-crow, Look out if yonder be not day
again Rimming the rock-row!"

A) Matthew Arnold
B) Lord Tennyson
C) John Keats

D) Robert Browning

Correct Answer :- D) Robert Browning



is one of the philosophical poems of Alexander Pope.

A) To Lord Bathurst

B) The Rural Sports

C) The Shepherd's Week
D) The Love of Fame

Correct Answer :- A) To Lord Bathurst

One of the following is Greeks' Contribution to English medical Science. Identify :

A) bacillus
B) neurology

C) nucleus
D) insomnia
Correct Answer :- B) neurology

is described as an exponent of the democratic movement in our modern literature as
Wordsworth deals with democracy in Michael.

A) Jane Austen
B) George Eliot
C) Charlotte Bronte

D) Iris Murdoch
Correct Answer :- B) George Eliot



One of the following pair of authors fostered the realistic tradition of drama. Identify :

A) Edgar Wallace and Patrick Hamilton

B) A.A. Milne and Frank Vosper

C) J.M. Barrie and R.C. Sherriff

D) George Bernard Shaw and Galsworthy
Correct Answer :- D) George Bernard Shaw and Galsworthy

One of the skills of Micro-teaching listed below is not suggested by Iris Paintal (1980). Identify :

A) Skill of reinforcement

B) Skill of using probing questions

C) Skill of stimulus variation

D) Skill of improvisation

Correct Answer :- D) Skill of improvisation

is one of the precursors of classical movement of English Literature.

A) Herbert

B) Suckling

C) Edmund Walter

D) Vaughan
Correct Answer :- C) Edmund Walter



The Germanic tribes who settled in Britain were particularly from North Germany plain near to the
district now known as

A) Saxony
B) Bavaria
C) Hesse

D) Schleswig-Holstein

Correct Answer :- D) Schleswig-Holstein
10 Monolingual methods of language teaching is associated with

A) Henry Sweet
B) Thomas Prendergent
C) Claude Marcel

D) Jean Joseph Jacotat

Correct Answer :- D) Jean Joseph Jacotat

11 Pix means :

A) Perfect international news agency
B) Free photo editor

C) Short for pictures

D) One dot on a computer screen

Correct Answer :- C) Short for pictures



12 is one of the Caroline prose writers.

A) Arthur Symons

B) Robert Louis

C) Charlotte Turner Smith

D) Jeremy Taylor

Correct Answer :- D) Jeremy Taylor

13 One of the following writers has taken much liberties to use anachronisms numerously.
Identify :

A) Maria Edgeworth

B) Susan Edmonstone Ferrier

C) Charles Robert Maturin

D) Walter Scott
Correct Answer :- D) Walter Scott

14 Who wrote the work "Some Inner Fury" ?

A) Kamala Markandaya
B) Anita Desai

C) Shashi Deshpande
D) Bharati Mukherjee

Correct Answer :- A) Kamala Markandaya



15 The English word morphology has been derived from the Greek "Morphe". Its meaning is

A) shape
B) mould
C) form

D) Mend

Correct Answer :- A) shape

16 According to John Bunyan, "A Tale of a Tub" is a

A) religious allegory
B) political allegory
C) social allegory

D) satire

Correct Answer :- A) religious allegory



17 Nebular Hypothesis is propounded by

Qpyerg Camlum e LfN&8FSauT

A) Chamberlin and Moulton
FmibLIfeSe opmiLh GLomedL_air

B) Marquis de Laplace
LoAi@aed 19 TLicTab

C) Immanuel Kant
@)ibiomeniGauad Era”

D) Hannes Alfven

@@)WQD w"l[Gi)ooo@GUGZS.T

Correct Answer :- B) Marquis de Laplace

18 On the basis of nature and mode of occurrence the reefs have been divided by

Qupeswns wPDILD 2 Heur@GL (pepenw C)&me(h Feang LITDEH®ET aueSLILIBHSS HML 19 weud

A) Arthur Holmes
9357 Cammbed
B) Darwin
L_rgailesr
C) Daly
Lm0
D) Murray
wpiGo

Correct Answer :- B) Darwin



19 The highest rainfall occurs in India in

20

@BFwrailed Fs weopwerey QLpiLd @)L Lb

A) Konkan and Malabar coast
Q& TBISGT LPMILD LOGVLITT SL_DEHEDT
B) Coromandal coast
GEHIILOGRTL 6V SL_DFHeT
C) Foothills of Himalayas
Q@)W ioeEnev 91y QuTILd
D) Central Deccan Plauteau

LGP FoHasrewt LFL_LjLo)

Correct Answer :- A) Konkan and Malabar coast

drainage pattern is found in the Vindhyan mountain of India.

@)BpHwTaled Lo aTar GBS LDew6VUdeD QUL BTGV DGHLOLIL| GWLD B GTCTH.

A) Dendritic
LIGV Se®aT aILg 6l
B) Parallel
Qevent aug e
C) Barbed
C&mg L1 19eTeTed @uig el
D) Rectangular

QFalaus oLy el

Correct Answer :- D) Rectangular



21 The largest percentage of forest area in India is in regions.

@BPwralled 995 all(pssT®h LTI BSGHLD HTHSHNGT LITeueD LGSl 2 aTars).

A) Eastern Ghats Region
FpsG BT FFF wenevl] LGS
B) Western Ghats Region
Cup@ Os1L_iFd wemell LGS
C) Himalayan Region
@uumal LGS
D) Peninsular Region
BuspUL LGS

Correct Answer :- D) Peninsular Region

22 Which set of the following biosphere reserves is included in the World Network of Biosphere
Reserves ?

YeraupLd 6165 2 uliGamer LTgsTLIL 9BFS»S, 2 w5 2 wilFCsTer LITFHISTLIL Q)enenTLiLe)
GeigsLiuL B aererg ?
A) Nilgiri, Nokrek, Panchmarhi and Panna
Bew& A, Cpnslus, LIEhdFomf LPmILD LIGHTeTT
B) Gulf of Mannar, Kanchenjunga, Nokrek and Seshachalam
LOGIIGSITH GUGHETGL_IT, &@hFar0lemisT, Crrs0rs wppid CraungeLd
C) Gulf of Mannar, Nokrek, Panchmarhi and Simlipal
werestmy euenar@ L, Grrgblys, Liehdomf) wPnid FLbes)Limed
D) Nilgiri, Nokrek, Panchmarhi and Seshachalam

Beov& i, Cpnsblus, Lehdwmf wppid CFaprseLd

Correct Answer :- C) Gulf of Mannar, Nokrek, Panchmarhi and Simlipal



23 Which one of the following is known as the 'Shrimp Capital of India' ?

24

'QBFw Qe (Lpsed®' eTeIny Lo (heuaTaUpPle) 6Tens GHMPI%EGLD ?

A) Nagapattinam
BISLILIL 1g 7LD
B) Chennai
O airen car
C) Nellore
Clped g
D) Machilipatnam

LGS 19 GorLh

Correct Answer :- C) Nellore

The Least Populous State in India is .
Q@BFwWTded G®DHS LLESHGTO\G TS 2 66T LDTBIGVLD

A) West Bengal
Gup@ eumsisTarLd

B) Mizoram
LOCFTILD

C) Chandigarh
FGRTLY ST

D) Sikkim
FEGILD

Correct Answer :- D) Sikkim

10



25 In the year Tsunami that occurred in the Indian Ocean.
@BPwL QLpEIsLSed P L FerTLl) 1% aU(BL BB eIpLL L g 7

A) 2000
2000
B) 2004
2004
C) 2001
2001
D) 2011
2011

Correct Answer :- B) 2004

26 Ppublic Distribution System (PDS) was emanated in
Qg aser LS TESNSS60 G L 1D YTHLISSLILIL L euBL LD

A) 1990
1990
B) 1970
1970
C) 1980
1980
D) 1960
1960

Correct Answer :- D) 1960

11



27 The First Indian Prime Minister Jawaharlal Nehru presented the Five Year Plan to the Parliament of
India on

QB wnelle, wse Igwi geisievne Crnk e @bsTaN( FIL LSS LITITEHLOSDSF6
Qe sT1BH® ClFUiBTH.
A) December 8, 1951
wabug 8, 1951
B) December §, 1952
wg&bg 8, 1952
C) March 8, 1951
wrjge 8, 1951
D) March 8, 1952
wrjgs 8, 1952

Correct Answer :- A) December 8, 1951

28  What was the focus of the seventh five year plan ?

TLPTRIF @BSTeT(H B L FSF T (LpsGwinmes &mlsGsmar ereresr ?

A) Food, work and productivity
2 aw1a, Galemev HYILd 2 HLISH)
B) Health for all
T (h&ELD 2 L6 VLD
C) Growth with social justice and equality
Fops EDuyLb, FLoSGIaIUPLD QFTaHTL uUeTFFF)
D) Industrial development

Oz mfled euaridd)

Correct Answer :- A) Food, work and productivity

12



29 According to Prof. Nurkse "It is the Vicious Circle of Poverty (VCP) which is responsible for
backwardness VDCs; Main reasons are :
1. Low Real Income and Low Savings
2. Low Productivity and Low Demand
3. Low Investment and Low Rate of Capital Formation ?
4. Inflation and Deflation

Cuum@Awi piged erearLIuReT BHSSILILIY " aueTidfs Gaplw pTRFeled LNaTsmI&S W BlenewenLod S
SMIGRILD TS Q) (BLILIGI uMIenLOUNGT b&FF UL L LDTGLD" . @)SDHTET (LpSFNWI & TTGHTIEI% 6T

l. Gepaunes 2 arenLo au@peumtl Pmid Geomeumes GFiliLy

2. GDUTET 2 HLISP LoPmILd & euTes CHenal

3. DTt (LpFB6d (B LOPMILD (&6 D 6UTET ALPVSET %S LD

4. uesaligsLd LPMILD LiGssTeITL L LD

A) 1, 2, 4 correct

1,2, 4 sfwnestencu
B) 2, 3, 4 correct

2,3, 4 sfwnestencu
C) 3,4, 1 correct

3,4, 1 sfwneseneu
D) 1, 2, 3 correct

1,2, 3 sflwneaeneu

Correct Answer :- D) 1, 2, 3 correct

30 The Government announced the Annapurna scheme in the year

D TFTEISLD GHITLYTNTT 6Te)ILD G L_Feng 9mI(LpsHLILIBHSD W 26557 (h)

A) 1997 - 1998
1997 - 1998
B) 1998 - 1999
1998 - 1999
C) 1999 - 2000
1999 - 2000
D) 2000 - 2001
2000 — 2001

Correct Answer :- D) 2000 - 2001

13



The First Population estimation of India was taken in the year .
@BFwTaied LpsHed &S O\FTens 5ew5150)%HSSHLILIL L 9),6wT(H .

A) 1871
1871
B) 1881
1881
C) 1891
1891
D) 1901
1901

Correct Answer :- B) 1881

Arrange the Finance Commission Chairman in the ascending order :
5155 @ (LI FameveuFHMaT aTNI(LpHSF 60 uflenFLiLI(hS5%.

A) C. Rangarajan, L. Kelker, Y.V. Reddy, A.M. Khusro
C. gmisgnggar, L. Qsedsd, Y.V. Qu’ig, AM. gabGgr
B) L. Kelker, Y.V. Reddy, A.M. Khusro, C. Rangarajan
L. Qsavsd, Y.V. Qrilig, AM. @abGan, C. gmisgmegan
C) A.M. Khusro, C. Rangarajan, L. Kelker, Y.V. Reddy
AM. gavGyn, C. gmisgaser, L. Qsasd, Y.V. QoL
D) Y.V. Reddy, A.M. Khusro, C. Rangarajan, L. Kelker
Y.V. Qug, AM. gavGor, C. guisgrggar, L. Qsasi

Correct Answer :- C) A.M. Khusro, C. Rangarajan, L. Kelker, Y.V. Reddy

14



33 The First Industrial Policy Resolution was announced in the year
s Cgmfled CFmearens GiwmeTid Olsrest(h) eugLii’ L 9),ewT(H

A) 1947
1947
B) 1948
1948
C) 1956
1956
D) 1977
1977

Correct Answer :- B) 1948

34 In the year 2017, India's population was equivalent to of the World population.
2017 —gy1d w1960 2 6V L&G6T CFTemasulled @) BB wraler asar 6% Tems S GLD.

A) 16.76%
16.76%
B) 17.86%
17.86%
C) 18.96%
18.96%
D) 19.97%
19.97%

Correct Answer :- B) 17.86%

15



The objective of Tenth Five Year Plan was to achieve the Growth Rate of GDP at

ugsTaug @psTes®h HL L sH Owrss CsFw o Hrg® (GDP) eueris® af@sid GTGTD
[OEEL EROL T ()

A) 6%
6%
B) 7%
7%
C) 8%
8%
D) 10%
10%

Correct Answer :- C) 8%

is the best example of a Mixed Economy in the World.
2 WG iyl QlUTHTISTISHD & MBS 2 FTIewIL

A) America
<Y NEsT
B) Japan
SoLILITeeT
C) India
QrPwr
D) Russia

TQpUWIT
Correct Answer :- C) India

16



37  Captain Hawkins arrived at the Royal Court of :

SIS anTLiGered pEewmw CLITFIseneT WThenL W Smalsk @ U(heDS SHBTI |

A) Babar
I

B) Akbar
QST

C) Jahangir
QD TBIST

D) Shajahan
QTSI QUD TGBT

Correct Answer :- C) Jahangir

38  Which Education Commission recommended the vocationalization of Secondary Education ?

GueBlenevr uerafgafied CsTAPseal pevpenw 615F Feval ementwd LfEGemT ClFuigss ?

A) Saddler Commission
FTL VI 2,69 eI LD
B) Hartog Committee
oIS g
C) Radhakrishnan Commission
@) T T5) (15 @y CRTGHT 2y, & GWTILI LD
D) Kothari Commission

Cargsmifl oy emewtwLd

Correct Answer :- D) Kothari Commission

17



39 Which Constitutional Amendment added the word 'Secular' in the preamble ?
2ATSweeLLifear psayemauied 'wgeTfupD’ 1D uTigams 61ps ST LLiL] Bl(5SSSS 6
epeoLh @)eemEsLILIL L g ?

A) 424 Amendment
20151 FBSHLD

B) 44" Amendment
4oug HBsHL0

C) 47" Amendment
4T oug HB3HL0

D) 49" Amendment
49oug SBsHLD

Correct Answer :- B) 44" Amendment

40 Who wrote the Article entitled "Poverty in India" in 1876 ?

1876 -y 1b a1 " QBB wraler eupienin" e16m S (Hewgeniws 6T(LpHwcus :

A) W.C. Bannerjee
W.C. unerigd)
B) S.N. Banerje
S.N. unerigd)
C) Dadabhai Naoroji
sasmum QparGrmed
D) B.G. Tilak
B.G. s

Correct Answer :- C) Dadabhai Naoroji

18



41 Fundamental Rights of the Constitution is placed in the part of the Constitution :

QrHweveoLitied SyiyLitieyL 2 flewinsar 61p% LGFuiled @)L_d ClLipmierares ?

A) Part II
L 11
B) Part I1I
L@ I
C) Part IV
LS IV
D) Part V

uss V

Correct Answer :- B) Part III

42 Which Act sanctioned one lakh rupee annually for the spread of education to the Indian people ?

Q@ BFwiselar sevall auaTiFFEsTs @(h WL F HLTOW RFHSS aULflelGHSS FL L LD 618 !
A) Charter Act of 1793
1793 -16 oyesr(® UL L wée Lib
B) Charter Act of 1813
1813 -1b e (® UL L wés L 1b
C) Charter Act of 1833
1833 -1b yaw(® L L wés L 1h
D) Charter Act of 1853

1853 -16 gyewor(p) L L wdaFL L 1b

Correct Answer :- B) Charter Act of 1813

19



43 Indian Federal Structure of the Constitution is borrowed from :

@BPw Fnl L1 F yemioLiLLpedD 6THS BT 1467 HITFweeLoLitedBrg i’ g ?

A) Australian Constitution
2P Credlw yrFuweenioLiLy
B) American Constitution
96 NEs o rF el
C) England Constitution
QEIF VMBS TFUWELDLIL]
D) Ireland Constitution

DWIVTES YTFWeLDLIL]

Correct Answer :- B) American Constitution

44 The Treaty of Purandar was concluded in the year :

YUbST o LTI $e0d e9&wriiuib’ L o6t :

A) 1660
1660
B) 1665
1665
C) 1670
1670
D) 1675
1675

Correct Answer :- B) 1665

20



45 Who was the European who did not contribute to the reformation of Tamil letters ?
SO e1(pSF FIF 5SS53D0 LmI@G QOuprs @CGrmiifw pr e Fripseud wrg ?

A) Robert Clive
@QurLiL Henerel
B) Beams
Lfbed
C) Ellis
TG
D) Caldwell

ENIOIOLT)

Correct Answer :- A) Robert Clive

46 The Constituent Assembly was elected by the mode of :

rFwed pliewiw Feou Q)Lopenpuied Cain0lsHSSLILIL L F).

A) Direct Election
Gpoig Gziged
B) Indirect Election
weopups G55
C) Direct & Indirect Election
Gpoiy oppih s Csige
D) Nominated by Cabinet Mission
Gaer” gigy @peured Csip0ls®EsL LI L g

Correct Answer :- B) Indirect Election

21



47 Which year the mint of Chintadripet was established by the British Administration ?
ApsrsiLiGul e ulled prenrwg CsmfpFrene opm%HGevw Bl(HeuTsSST60 6ThS 26w (H
Boeuiu’ e g ?

A) 1665
1665
B) 1697
1697
C) 1732
1732

D) 1742
1742

Correct Answer :- D) 1742

48 When did Pondicherry become the Capital of French Settlements in India ?
@BFwrailed L6 rEha &y Cupprisaler sevevenoud ons LineyFGFd 6155 24,6557 (h)

2 (heunssLLIL L g ?
A) 1699 A.D.
%.19. 1699
B) 1701 A.D.
&.19. 1701
C) 1703 AD.
&..9. 1703
D) 1705 A.D.
&.19. 1705

Correct Answer :- B) 1701 A.D.

22



49 Prince of Wales arrived at Madras on :

Couavad Q)ameugsy ClFeTeneTs @ aubS BHTaT :

A) 10" January, 1922
10 goaraud 1922
B) 11" January, 1922
11 sgeweurf 1922
C) 12" January, 1922
12 egeseurf 1922
D) 13" January, 1922
13 syarauf 1922

Correct Answer :- D) 13" January, 1922

50 Annamalai University was formed in the year :

| GTGRTTLOGHGV LI LIGEHEGVS HLPHLD FIeUBISHLILIL L 6T (h) -

A) 1922
1922
B) 1924
1924
C) 1926
1926
D) 1928
1928

Correct Answer :- D) 1928

23



51 Who was the First Portuguese Governor in India ?

@BFwrailed Plullgsinl L psed CUTigssSFw oy eHnT wrg ?

A) Vasco da gama

urev GEHT LT SaLom
B) Almaida

9@Q Ui
C) Albuquerque

QL TEIL,
D) Francois Martin

LI gmestedwad Lomgig et

Correct Answer :- B) Almaida

52 Indian Constitution Day is observed on :

@BH W TR W LLLIL|S HeTLd Q)BBTaN6 9 eIFfFasLILIBF DS .

A) 9 December 1946
9 e 1946
B) 4 November 1948
4 pourbig 1948
C) 6 December 1949
6 19 &g 1949
D) 26 January 1950
26 goawraufl 1950

Correct Answer :- C) 6 December 1949

24



53 'Who was the Founder of the Madurai Tamil Sangam in 1901 ?
1901 -15 gye7(® ogienr LA FrIsFEams Carpmalssalsd

A) Kanaga Sabai

&H6ISH Fom Ll

B) Pandithurai Thevar
uresstiy gieng Ggeu i

C) Saminatha Iyer
FTLOBTS gowl i

D) Krishnasamy Sharma
&) 5y eI FTLE) FFLOT

Correct Answer :- B) Pandithurai Thevar

54 Which Article of the Constitution defined as Right to Equality before Law ?
IR Ween o LILN6) 61hS apIdSS FL L SHGT (LpGiT 9eeTau(HLD FLOLD 616D 2 Flewid aUpEIGE DS 7

A) Article 14

rgg 14
B) Article 15

g 15
C) Article 16

a5 16
D) Article 19

o855 19

Correct Answer :- A) Article 14

25



55 Who stated the doctrine of Separation of powers in the Government ?
IFTBISSH D B HTiLl LG Fey Carum e ployeflw yrFwed mess :

A) Aristatle
< flev_m 19 e
B) Adams Smith
QL Lbaw avLb)s
C) Plato
orr " Grm
D) Montesquieu
Y2 (O IR Y-3T)

Correct Answer :- D) Montesquieu

56  Who is considered as the Father of Carnatic Music ?

'SIBIL& QenFullel SHeS 616 yewpSSLILIG LT w7

A) Shyama Sastri
Pumor sredSR

B) Tyagaraja
Suwrsgrgm

C) Muthusami Dikshitar
Wo ol 355

D) Purandra Dasa
LIBST ST

Correct Answer :- D) Purandra Dasa

26



57 A alone can do a work in 10 days and B alone in 15 days. They undertook the work for Rs.
2,00,000. The amount that A will get is :

A G @@ Caumewenw 10 prsefled QFuisri. B 96 Caemeenw 15 prser QFuigmg.
@uBEGL Heorgs Ggrens en. 2,00,000 erafle, A —ayssmes Osmens eTalcuerey ?

A) Rs. 1,00,000
er. 1,00,000
B) Rs. 1,10,000
er. 1,10,000
C) Rs. 1,20,000
. 1,20,000
D) Rs. 1,50,000
er. 1,50,000

Correct Answer :- C) Rs. 1,20,000

simolif 0.2x0.2 4+ 0.2x0.02
58 B 0.044

0.2x02+02x0.02
0.044

H(HSHGHS :

A) 0.004
0.004
B) 0.4
0.4
C) 1
1
D)2
2

Correct Answer :- C) 1

27



59 A works 3 times as fast as B and is able to complete a task in 24 days less than the days taken by B.
Find the time in which they can complete the work together.

A pug B puengal epetyy wrmi@g Causwns @ Caumeew 24 prser B —eow smigeyid
werGu (p1g S eTashled @) pheuhLd CFiBg L1y a5 CHemeuwTeT HIL G6T 615SemerT !

A) 7 days

7 BaC sar
B) 11 days

11 pr saer
C) 13 days

13 B sar
D) 9 days

9 B saer

Correct Answer :- D) 9 days

60 A message like 'Good Morning' written in reverse would instead be 'Doog Gninrom'.
In the same way decode the sentence given below 'ot dnatsredna taht scitamehtam'

.'Good Morning' e1aiip eunigenguiled o aiter e1(psHSHeT auflenFonpm @)L bGLwisg 'Doog
Gninrom' erer apBlweniossLiLil Raertarg eiestiev, ECLp CQsTRESLILIL HaTaT aUTSHWS S ULD
@a1eunGp gplaflewssd Gauis : 'ot dnatsredna taht scitamehtam!'

A) To anderstand the mathematics
To anderstand the mathematics
B) To understand that mathematics
To understand that mathematics
C) To anderstand that mathematics
To anderstand that mathematics
D) To understand mathematics

To understand mathematics

Correct Answer :- C) To anderstand that mathematics

28



61  When the interest is compounded annually, we have :

SATTHE S RHLP®D Fnl (B UL’ 1y sewrsFL_Litipd Cung pmd Clud Clgmens :

A=F(1+L]
100
A=P(1+L]
100
B) 21
i
A=Pf1+—|
\ 200 )
. 2N
AzF‘{]J.——
200
C) y = .M
A=Pl1 + —
100 ,
Iy r 3
A=PF|1 + —
100,
D) r 0
A=PF1 +—]
200 )
r n
A=F'{1 +—1
200 )

29



62 Common prime factors of 30 and 250 are :

63

30 wpmid 250 @&t Quingy LISTs &myesilsar

A)2x5
2x5
B)3x5
3x5
C)2x3x5
2x3x5
D)5x5
5x5

Correct Answer :- A)2x 5

Complete the following patterns :

A r v ?

aufleng (LpemmeniL Hlsnmer] Q&S :

Al > |V ?
A) |

A

A
B)

v

30

2 GLD.



9)

D)

Correct Answer :- C)

31



The sum of the factors of 27 is :
27 e1631n 61ewTesN 6T HMIesllBafGr g (HB6L :

A) 28
28
B) 40
40
C) 31
31
D) 37
37

Correct Answer :- B) 40

If the points P(5, 3), Q(-3, 3) R(-3, -4) and S form a rectangle, then find the co-ordinate of S.
P(5,3), Q(-3, 3) R(-3, -4) wpmid S 9@ w Lereflsar gp OFalasgsams o (heurs@Ld elafled Ljeraf S

—6iT QYW F OB TV 6YFETS HTHNS .

A) (5, 4)
(5, 4)
B) (-5,4)
(-5, 4)
C) (-5, -4)
(-5, -4)
D) (5, -4)
(5, -4)

Correct Answer :- D) (5, -4)
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66

67

How many triangles are there in the following figure :

A) 14
14
B) 16
16
C) 12
12
D) 18
18

Correct Answer :- B) 16

Find the missing number in the list 0, 2, 8, 14, , 34.

@30sr_fed @B L L eTesstenaent e1pgs - 0, 2, 8, 14

A) 24
24
B) 22
22
C) 20
20
D) 18
18

Correct Answer :- A) 24

33
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68  Find the volume of a cylinder whose height is 2 m and whose base area is 250 m?.

2 wph 2 18 wPpid SyigLiugLiny 250 #.18 Q& mest @i 2 (56w aTuiGir ST Ten U &TCETS.

A) 450 m?
450 .15
B) 500 m?
500 5.8
C) 450 m>
450 .18
D) 502 m’
502 .18

Correct Answer :- B) 500 m*

69 The vertices Ay, i), B, v2) and Cxs, va) of a triangle ABC then the area of AABC is :

WPSCHTETTSEETT (LPEMETSET A(x, Vi), B(xz, ya) LOOMILD C(xs, y3) 6TEBNE0 AABC —631 LIFLILITENG] :

A) {xi(y3 - y2) + x2(y1 - y2) + x3(y2 - y1)}

{x1(ys - y2) + xa(y1 - y2) + x3(y2 - y1)}
B)

%{’H(Yg -y3) +Xo(v3 - 1) X3 (v1-Y2)}

%{M{Yz -¥3) ¥ Xa(¥3 - V1) + X3 (Y1 - Ya)}

O) {xi(y2-y3) +xa(y3 - y1) + x3(y1 - y2)}

{x1(y2 - y3) + xa(y3 - y1) + x3(y1 - y2)}

D ;
) {x1(ya -v2) +x2(v1-v3) + x3(y1-v2)}

M| —

1 ;
§{X1{Y3 -va) +x2(y1-v3) +x3(v1-v2)}

i Xi(v2 -va) +x2(v3 -v1) +x3(v1-v2)}
Correct Answer :- B)
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70

71

Which of the following pair is co-prime ?

LeTaupLd @)enenTHalled, 6Tene FIFLIGT 6TesSTHGT GLD |

A) 51,63
51, 63
B) 52,91
52,91
C) 71, 81
71, 81
D) 81, 99
81, 99

Correct Answer :- C) 71, 81
Find the value of (98)°.

(98)* —ir B LiewLIs FreHTss :
A) 1092727
1092727
B) 941192
941192
C) 841292
841292
D) 1093737
1093737

Correct Answer :- B) 941192
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72 How many zeros are there in 100' ?

100" —@)ad 2 sirar YFPumseNeT srawteniigens wing ?

A)2
2
B) 3
3
C) 10
10
D) 20
20

Correct Answer :- D) 20

73 A can finish a job in 3 days whereas B finishes it in 6 days. The time taken to complete the job
together is days.

A @@ Caumevew 3 prlseafled pyssTi 94Gs Cauemevenw B, 6 prsafled wpiggsmi eresiiov
@By Caipg 2ns Calemeenil 6T35&ST BTL Safled (LpLg LI :

A)2
2
B) 4
4
C) 6
6
D) 8
8

Correct Answer :- A) 2
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74 The number of conversion periods, if the interest on a principal is compounded every two months is

@I gellair LBFnaT auL’ly, @)Ta(h) LIFESE@pHEG P (LD SEISELLILILL T, Q@UIaiyDG
LOTDHMIS HTQBISAT () (5 G LD.
A)2
2
B) 4
4
C)6
6
D) 12
12

Correct Answer :- C) 6

75 There are 50 students in a class. If 14% are absent on a particular day, find the number of students

present on the day.

@5 au@GLLled 50 wrenteuiser o arerery. euisaie 14% gy GHILIL L prefled eugailedenev
616160, Y BBETTNGD UBS LDTCHTCU TS GG 6T6ET6Es% e .

A) 43
43
B) 45
45
C) 42
42
D) 44
44

Correct Answer :- A) 43
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76

77

Sum of a number and its half is 30 then the number is :

QU 61607 LOPMILD YFeT LTHufleTt o BHBe0 30 eravfled oyaibeuesst

A) 15
15
B) 20
20
C) 25
25
D) 40
40

Correct Answer :- B) 20

Howw many squares are there in the following figure 2

pd /"
R
-

A) 10
10
B) 12
12
C) 15
15
D)8

38
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Correct Answer :- A) 10

78  The representation of 'one picture to many objects' in a pictograph is called :
UL aflardsLiuL_$F60 qh UL SHeT auflwnsLi e ClUmTBeTsears &mlssa
GTGTLILI(HLD.

A) Tally mark
CriGasrlBs Gplsar
B) Pictoword
9ECL_m Caug(®
C) Scaling
E VIO
D) Frequency
511 G) e

Correct Answer :- C) Scaling

79 The LCM of two co-prime numbers is 5005. If one of the numbers is 65, then find the other number.
@ FriusT erestasaier L8.8)..0 5005. gi erewr 65 erasflev, Lo Gy 16w 6TewIewT 7

A) 77
77
B) 83
83
C) 88
88
D) 73
73

Correct Answer :- A) 77
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80

81

240+ 240 i5 equal to :

240 4+ 2% &g Wil

A) 440
440
B) 280
280
C) 241
241
D) 4%
480

Correct Answer :- C) 2%!

The higher limit of learning is known as :

SHDESGHT 2 L[ 6TEOENGV GTRTNI W LpSHHLILI(HeUS]

A) Physiological limit
2 1 W& 6TEm6V
B) Psychological limit
2 aT@IIc) 6TV GV
C) Goal
Qs
D) Achievement

SADLaf

Correct Answer :- A) Physiological limit
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82 A child is daily confronted with change is a statement by :

83

R GBS YBST(LPLD LOTBDSDS 6TH T0)%TaTEEF DS GTGHID 61MTSHENISH e 68T Fn Wi :

A) Jean Piaget
et LuwmGey

B) Montessori
tomeusreg G

C) Froebel
LiCrr@ e

D) Rousseau

e G

Correct Answer :- A) Jean Piaget

The most dominant role in the individual's socialisation is :

Q@5 F651) B LIFGT FeLPSLOWLDTGHSID (LPSHWLT LIBIGEH UGB LILIG :

A) Peer Group
BESTLIT GLpTLD
B) School
Liaien
C) Family
GG UL
D) Society

FELPSHLD

Correct Answer :- C) Family
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84

85

In the measurement of personality May and Hartshorne developed :
g @peullenat aralBeugspsns G wPpnid anril CFmieT o (HeursGwg)

A) Psycho-analytic method
2 aTLiLIGLIL] (LpedD

B) Questionnaire method
et 19 wed (Lpewm

C) case-study method
SaflpLg Lg Lt e

D) Performance method
CEuRPar Lpap

Correct Answer :- D) Performance method

The classification of personality according to Terman is :

Q)0 Lo 65 68T Y @FE LD 6UEHSLILITL 19 GIT 6TGESTGH%6n 5

A)9
9
B) 3
3
C) 6
6
D) 12
12

Correct Answer :- A) 9
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86  The concept of one's inferiority affects personality is given by :

RBUAGT Y @penLo eufll_(LpaTaT FMLHeyeTFFEWTE) LITH &S5 LIRS DS TN Jnm ) en eyt
QUL BIGWIG T

A) Kretschemer
SO gL Fiog

B) Sheldon
Glawedr_er

C) Adler
<L i

D) Gardener
SIIL 6ot

Correct Answer :- C) Adler

87 In cattell's personality inventory, the dimension are

S L oSleir oy@pemis LL 1 wedled, LifiorenTEiseiar eraeanisans
A) 16
16
B) 12
12
C) 15
15
D) 10
10

Correct Answer :- A) 16
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88  In Maslow's theory of needs self-respect is a component of

wravGevraler Caeneusar Cam’Lim’ 1y FwoNwmes eI o L Faml LIBl@ UG LILIF :

A) Belongingness needs
TS Cmausar

B) Safety needs
LngISTLLS GSenaisar

C) Self-esteem needs
SwiBLiy Gseeusar

D) Physiological needs

2 1 OFTiRs CFHemalsar

Correct Answer :- C) Self-esteem needs

89 According to Carl Rogers, self - actualisation refers to :

sried Crrggied &HsHILILILY, GLOGTER LOWTSHLOMESIS GHPIHHLILI(BHeUF :

A) High Level accomplishment
2 wipleme YL 6
B) Full Functioning
(e LOWTHEE O\ Fwed LI (S
C) Final Goal
OLTZROLEIC)
D) Full Satisfaction
W p pleopey

Correct Answer :- B) Full Functioning
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90

91

Raven's progressive Matrices is a :
greuest (Lpw CLITESE M6 oy essf] GTGTLIG

A) Verbal test of Intelligence
umi)om) mewTentley Cargenet
B) Non-verbal test of Intelligence
umiQwmflwupp piesresley Cargemest
C) Group test of intelligence
G piseia) Genpaman
D) Skill test of Intelligence
Bpar piesePle) GFigear

Correct Answer :- B) Non-verbal test of Intelligence

The first step to thinking is :
GBS ar (Lpsed L1y

A) Listening
%61 68T %S 6D
B) Reasoning
FTIGSTLO M) F 6V
C) Perception
LjoVesT ST &)
D) Analysis

UGBS TITLIS G0

Correct Answer :- C) Perception
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92 The concept about the nature of psychology in attention is given by :
F6uesF 06T 2 aTaiied SeTenLd LIDMIGT H(5SHIFHFH® T I efSSalT

A) Hebs
GamLiev

B) Maslow
omed Gevrr

C) Crow & Crow
sGor & &Gy

D) Guildford
DedBUTI

Correct Answer :- A) Hebs

93 The stage in which the child is dependent on parents and gains useful experience is :

R GLpBas CuPCnren s FIibg LIV LW aTaT 9eLiauBSmart] ClLnih Blevev :
A) Infancy

GLpaflL LiGauLD
B) Early childhood

(PG GLpBEOSLI LIHaILD
C) Childhood

GLPBOSLI LIGaILD
D) Adolescence

GLOILI LI(h&ULD

Correct Answer :- A) Infancy
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94 Samagra Shiksha Abhiyan covers the education from

95

FLOETT FE Ty 21Nl mesT auenguflevrer sVallewws 2 GTaTL &% ULIG).

A) 1toclass 8
1 wpged 8 augLivy
B) pre-school to class 12
wparLaTaR 1psad a@LiLy 12
C) 9toclass 12
9 ws® au@Liy 12
D) pre-school to class 10

wpesrLeiref Lpsed eu@Liny 10

Correct Answer :- B) pre-school to class 12

In Buddhist education the initiation Ceremony for admission of student was called as :

4851055 se0ailuilled renteli CFIEamEHsH 68 Halshs IpT HeopssLLIGILD IFLD

A) Upnayan
o LIpWGTLD
B) Upsampda
2 LIFLHLIFLD
C) Pabbajja
LILILIgoT
D) Bismillah
Hevfledevmaib

Correct Answer :- C) Pabbajja
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96 Who is considered as "Educable mentally retarded" ?

97

" $BEESES DB GBS 61T HeIpEFLILG LGS W ?
A) Their 1.Q range is between 40 to 60

9euisafer pesresipley ey eugtbLimesigy 40 wpged 60 —&@Ger Q)% GLD
B) Their 1.Q range is between 60 to 80

Sauiseaiar maveapey Foy augbLmarg 60 wpse 80 —g@ar @ms@Lb
C) Their 1.Q range is between 30 to 40

9euisafer pesresipley ey eugtbLimesigy 30 wpsed 40 —@Ger Q) BrsGLD
D) Their 1.Q range is between 50 to 70

9euisafer pesresipley ey eugtbLimesigy 50 wpged 70 —@Ger Q) BsGLD

Correct Answer :- D) Their 1.Q range is between 50 to 70

According to Crow and Crow, Guidance is :

&G wpmid sGrraller euflasr HFe eTaTLS) :

A) direction
Qusgse
B) Imposition of one's point of view upon another
p@aflar s@Fms PCDIHaAaT LBg) SenflLiLig
C) Assistance made available by competent counsellors
$&% unips 9,Cvnssisaer apevld 2 sailsar Henl_s5d ClFuizsew
D) Carrying the burden of anothers life

LB O TG QUTLHSeFHEW FLIOLILIZ

Correct Answer :- C) Assistance made available by competent counsellors
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98 According to Crow and Crow, which among the following is not considered as the aims and
objectives of mental hygiene.

ECom pmid SCraileT Lig, L9676 (HeGTOUDDIGT 618 LOGST &HIHTTSHH DS T &% CHTaT LommILD
Crprasns sBsLLGR S Q)eVemev
A) Adjustment
FALRSBS 0% meiT@ns e
B) Preservation
LIMG|H TS 60
C) Prevention
SBS5
D) Cure

(& ERTLD T (% B

Correct Answer :- A) Adjustment

99 Carl Jung considered personality in terms of

BTGV g9/BI 9, @FEOLDUITS F (5SS

A) Individual difference
sestiesfls Geumyim®
B) Introvert & Extrovert
QHLIWSSGTGHLD LDDDILD LD LSS GTGHLD
C) Traits
LIGESTL{&T
D) Creativity

LI L_LILITHMGD

Correct Answer :- B) Introvert & Extrovert
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100 is the moral arm of the personality according to Freud.

Lgmuig &1 LIy @BeDLDSSTET STFLOS QUFLDOTH &(HSLILI(HaUS

A) Super Ego
BLo@Ten LD TRT SET(LPERTLIL]
B) preconscious
(Lp&T 2 GwT6y plewev
C) Ego
seiupananii)
D) ID

9BLD

Correct Answer :- A) Super Ego

101 The theory of achievement motivation was given by

oL 2155 CarLum yemears OFTHSSaud

A) Freud
o)
B) Maslow
orad Gevrr
C) Hull
QDG
D) Mcclelland

QLo & % 6V BT ()

Correct Answer :- D) Mcclelland
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102 The word motivation is derived from :
2018 &GS 6TGID UTigemd GlupLini’ L Glomy) :
A) Greek
5 CrasLD
B) Latin
Qs Gesr
C) French
190 reha
D) Sanskrit
FLOGV G (HSLD

Correct Answer :- B) Latin

103 Match the following on the basis of 1Q classification of the Indian by Dr. Rice,
Class Range of IQ
(a) Dull - (1) 55-70
(b) Very Superior - (2) 140 - 165
(c) Average - (3) 70 - 85
(d) Border line - (4) 85-120
Dr. 60J6r0-61  @bSHITHENSSBM6T  hHisHIssMe) [F6) eUEDHSLILITL o 60)60T
QuIm(n §.86.
(a) LD S LOMEaTEUIT (1) 55-70
(b} LD & &1 h & s 2) 140 - 165
(c) gymafliumeTeu 3) 70-85
(d)  eMefiby MsmeouTlsd (49 85-120
2_6lTeTIaI]

A) ()-(2); (b)-3); (¢)-(4); (d)-(1)
()-(2); (b)-(3); (c)-(4); (d)~(1)
B) (2)-(3); (b)-(2); (c)-(4); (d)-(1)
(2)-(3); (b)-(2); (c)-(4); (d)-(1)
C) @-(1); (0)-(2); (©)-(3); (D)-(4)
(a)-(1); (b)-(2); (¢)-(3); (d)-(4)
D) (2)-(2); (b)-(1); (c)-(4); (D)-(3)
(2)-(2); (b)-(1); (©)-(4); (d)-(3)

Correct Answer :- B) (a)-(3); (b)-(2); (c)-(4); (d)-(1)
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104 Law of readiness was propounded by :
WS Gemw qTHSH®ISSaT |
A) Pavlow

umeuGevr

B) Thorndike
STFeRTen L&
C) Skinner
o0 &) GoTeT
D) Gagne

5136wt

Correct Answer :- B) Thorndike

105 Which of the following pair is not correct ?

LAetreu(peuasToupmI6T 6THS Q)ewent FHlwmesg) (F)evemev ?

A) Thorndike - Cat
FMiesTa LG LyeaT

B) Pavlov - Dog
unaGeor — pmul

C) Kohler - Monkey
Ganavd — @S

D) Skinner - Rat

VBTG T — 6TV

Correct Answer :- C) Kohler — Monkey
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106 Classroom Interaction Analysis is related with :

UGLILD @ewL_alleneT LGLILITW 2 I T Cam_fyeoL_weiy :

A) Piaget
DuwirGey

B) Bruner
Ljerp ey

C) Kohlbery
Carev6lLIgs

D) Flanders

ermesTL_g

Correct Answer :- D) Flanders

107 In which stage, the emotional development reaches its maturity ?

ear6)euLpdF GLotbLimL_megl, 615 LG Blaneuiled HFaienl w (LpFIiFRmw e _Fng ?
A) Childhood

GBS LIGeauLD
B) Adolescence
GLOTLILI(BGILD
C) Adulthood
W LIGaILD
D) Old age

(LPHIGOLDLILI(BGULD

Correct Answer :- C) Adulthood
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108 Identify the external determinants of attention :

FUGTSF DS T LIDESTIET oW 6oL wreT LSS .

A) Intensity of the stimulus
St (hFedler SaflgLd

B) Interest
pJauLd

C) Past experience
(LPGST &I LIGILD

D) Social motivies

FOLPS 261555 6T

Correct Answer :- A) Intensity of the stimulus

109 Rousseau divided the human development into stages.

e Gowr efle GLobrim” 1 enest Uy Blenevserns L9Ms g ererTy.

A) 4
4
B) 5
5
C) 6
6
D)7
7

Correct Answer :- A) 4
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110" According to Indian council of medical research, 1972, the average height of 19 years girl is :
QBDw BB HITUIER HpasPae (1972) g 19 euwgienw O Lessesstlesr Fumaf) o wyLoTesIF) -
A) 150.7 cm

150.7 Q&.18.
B) 152.7 cm
152.7 Qg..8.
C) 151.7 cm
151.7 Qg..8.
D) 153.7 cm
153.7 Q&.18.

Correct Answer :- C) 151.7 cm

111 The de Broglie wavelength of a free electron of momentum P is :

e 1977185568 Syenev BaTLd 6TGTLIZG G3(h FeTeslFenFwineT 6Tevs L gredler 2 psd P oys @ ps@d Gung

A)P:%
B) 3\=%
S

C) h=AP
h=AP
D) P=hA
P=ha

=%

Correct Answer :- B)
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112 L ow voltage cables are meant for use upto :
G WOTT(LPSSLD HLOLBaNe) OGTT(LPSSLD @& UeDT LIWLGTL(HSSGVTLD .

A) 1.1kV
1.1 kV
B) 3.3kV
3.3kV
C) 6.6 kV
6.6 kV
D) 11kV
11kV

Correct Answer :- A) 1.1 kV

113 Skin effect is proportional to :
GCsred aflewarey Cpi al%5$EH 60 enLowLd

A) (Conductor diameter)*
(sL8Duler oL L 15)*
B) (Conductor diameter)?
(gD udesr oL L_15)>
C) (Conductor diameter)?
(L8P ule oL L 15)>
D) (Conductor diameter)'?

(L8P ular oL L 15)"?

Correct Answer :- C) (Conductor diameter)?
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114 A5 compared to a DC 2-wire distributor, a 3 wire distributor with same maximum voltage to earth
uses only how many percent of Copper require :

@ DC 2 ui um&l L ewg @ 3 qui us&L L eguL et @LILIReasuiled Cs yHsLIL &
LOGH TR (LpS B S S L6t Semguilggsid CFwiw STLILT @i LWGTLHSHRTTC) 615566 FSIHLD HTLILIT
Gzeweu ?

A) 66.7
66.7
B) 33.3
33.3
C) 31.25
31.25
D) 150
150

Correct Answer :- C) 31.25

115 Which gas can be filled in GLS lamp ?
GLS afar8@ e 6188 cuens eumy Bl wpiguyd ?

A) Oxygen
946D goair
B) Carbondioxide
STFLIGHT el SyEeman (B
C) Xenon
Q& emes
D) Any inert gas

IS TeUG| FeOGONWIGL] Ml

Correct Answer :- D) Any inert gas
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116 Entropy of a substance is highest when it is :
@5 eLoLitler erarGumLd e1LiQLITps B SHLOMs () (hEGLD ?

A) in the solid state
S Blenevuiled

B) in the liquid state
Breu Hevavufied

C) in the gaseous state

umyy Blenevuiled
D) at the triple point

epSIMI LaTal BlenevuyLgiLb

Correct Answer :- C) in the gaseous state

117 Elements whose electronegativities are 1.2 and 3.1. Bond formed between them would be :

@ sestimseaier etevsL e seuisearenn 1.2 wpmid 3.1. yemasers@ Qe Gu o (heurgLd
LenenTLiL) @)eieuTmreisg)

A) Covalent

F&L1 L9enesrLiLy
B) Coordinate

FHe0 LienewrLiLy
C) Metallic

2 GevnrasLl L9ewemLiLy
D) Ionic

wesflLt 19emesstLiLy

Correct Answer :- D) Ionic
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118 The ion that is isoelectronic with CO is :

CO epvsgamis @ FLOLDTGT 6TVSL TG 6TessT6u1% %W 6% TesTL_ 9w :

A) 0"
0y"
B) Oy
Oy
C) Ny
Ny
D) CN-

CN-
Correct Answer :- D) CN-

119 The polymer used for making artificial eyes is :

QFWUDenS FesdT 2 (HoUTHS LIWGTLI(HLD LIGVLILY :

A) Polyvinyl acetate
umadlaflenestev yFL G
B) Polytetrafluoro ethylene
Ll L gaLieas Gy 618 %) 6d 6ot
C) Polymethyl methyacrylate
LTed0gHed OgEysbemgGevr
D) Polyurethane
umeSluyGug Gz evr

Correct Answer :- C) Polymethyl methyacrylate
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120" The reaction between potassium permanganate and ferrous sulphate in acid medium is a :
9Lflev 2e11_sFFHe0 Olum L mFwid QugomsisGer g p@Ld Ouiged FeoGuL g P@Ld @enr Guiwmer

fleneT g(p :
A) Redox reaction
25l Garm — @ (H)o5 ailen e
B) Neutralization reaction
BB Bl ITESED ailen et
C) Precipitation reaction
fLpLIg QUTEHGD afleneT
D) Complex formation reaction

entayd CFILoLd o (HeuTHe ajlenest

Correct Answer :- A) Redox reaction

121" On roasting Galena ore, Lead is converted into :

ST FMgI»eu umsGHLOCLTg smflwd NeTelBLomm PO LILIBHE D).
A) PbO only

PbO i @b

B) PbSO4 only
PbSOPbSO4 o p1id

C) PbCOs3 only
PbCOPbSOs o ®id

D) PbO and PbSo4
PbO wpmis PbSOPbSO4

Correct Answer :- D) PbO and PbSo4
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122 When SO, is passed through acidified K2Cr,07 solution :
< lewm sewps KoCroO7 sewggedlar auflGuw SO eunyener OFasgdGLing

A) The solution turns blue colour
F@IFV bov BIDLOTS LLTNIFDS.
B) The solution is decolourised
S@®IFG BDLODDSTE DTS DS
C) SO is reduced
SO2 @sswedL_Gng).
D) The solution turns green colour

S IFV LIFGHF BIDLOTS LOTDIFDSG.

Correct Answer :- D) The solution turns green colour

123 can be used for a variety of studies in biotechnology and genomic research.

2 i@ mfled mLuaflwed wHmid BGaTills gy uiasailed %% yeralled LIwGTLIR 6uS

A) Microarrays
s BrreyGr
B) Manipulation
GrogyiL)Gevayesr
C) Automation
9" GG Loy e
D) Nanogram

BTGeTT®) FrLd

Correct Answer :- A) Microarrays
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124 1n plants photosynthetic tissue may contain a third group of pigments are called
SMeug RanFGFisens G OlLIDMIGTET ALpETD TeUS s Bl LS
A) Xanthophyll

TG YD LPSHLILIBH B D).

F15 G mo%Lil6d
B) Phycobilins
115G mLieetrerd
C) Carotenoids
&CumLig ermui(®
D) Granules
30 0]

Correct Answer :- B) Phycobilins

125 Phycobilins are very strongly attached to .
115 Csriederad TS BAIDIS QL 195 STewiLiLI (DS D ?

A) Carbohydrates
amriGumenant” Gy’
B) Proteins
LISLD
C) Starch
WL TIF
D) Sugar
FISHSH T

Correct Answer :- B) Proteins
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126 The Bordeaux mixture is used as

S CBumiLngev LAGFT 6150 & LWRTLIGHSSLILIG B DI ?

A) Insecticide
LF 88 0)% mevedlwns
B) Weedicide
LN AL OIS
C) Pesticide
BIes5T%) (5015 61 60 &)
D) Fungicide
Ly@hFTeunT1d 01 meded)

Correct Answer :- D) Fungicide

127 The tree Thespesia populnea is family.
Ogevedwr unliyedetlw g 61hS &BLOLS®SF FTTESSH |
A) Rodaceae
BrrGrL_a)Guw

B) Sapindaceae
GrLiferGrL_et)Gui

C) Malvaceae
o160 Gauet) Gus

D) Rutaceae
e G edlGw

Correct Answer :- C) Malvaceae
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128 The best medicinal plants of witharia somnifera belongs to the family of

BV LD(FSFIe FMeugLlons o arar aflgsretiw CFmbesfClLIpT 615% STeursd &M LOLIS®S FTTBSSH |

A) Apiaceae
LI NCwend

B) Lamiaceae

BavHGuie?)

C) Verbenaceae
@ ougLICesTa)Cuws
D) Solanaceae

QFmevTGasrat) Gw

Correct Answer :- D) Solanaceae

129 The loss or gain of a part of the chromosome set is called :

@ &CrrCrGard @)enentuiled eHLIL_Sdmigw @)PLIL] HeDWE Fn(B)B6D :

A) Euploidy
WS Lieumuitg
B) Haploidy
GanLisbLicvmuilg
C) Aneuploidy
e LicuTing
D) Polyploidy

LmeSlosLicumuiig

Correct Answer :- C) Aneuploidy
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130 The cow domesticated for milk production is :
LT & PUSFHSSTH UTISSLILIBLD LT -
A) Siri
2l
B) Gir
&)f
C) Malvi
LoV
D) Kangayam

N ACEITIT)

Correct Answer :- B) Gir

131 The segment of DNA that can move from one position to another in a genome is called :

2@ Carmiflad @ QLS GBS PCPTW Q)L EBDHS psiey CFuiyL 1.616T.60. LGB @mw
@aiaurm eops&HCoLh :

A) Plasmid
UermabLs)”

B) Cosmid
SmevLdl”

C) Transposon
19 prresred GLimgTeT

D) Episomes

eTL9CFmLD

Correct Answer :- C) Transposon
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132 The blood vessel, which supplies blood to the heart muscles :
QsW FOIE@EE GBS WPBIGL QUSS BT |

A) Coronary artery
CarGured %Loest)
B) Pulmonary artery
Bl gufged &Loet)
C) Pulmonary vein
Bl guiTed Hevg
D) Coronary artery and Pulmonary artery
Q&srGunesfl ioesl) LopmLd HewgufTed %Loest)

Correct Answer :- A) Coronary artery

133 1In linkage gene mapping the distance between two genes are expressed in

LenentLiL) gleirsafl et auen TLIL FF60 @)Teut(h edeurs@hs @ @)enL_ulled 2 arar FryLd
Q&0 GPILILNL_ LGS D).

unit.

A) Landstenier unit
Covar e O wiesi oG
B) Fisher unit
SoLievFr v
C) Morgan unit
LOTIHGT V(G
D) Bateson unit

GuL 1y Fer ev &

Correct Answer :- C) Morgan unit
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134 1n ABO blood grouping system 'O' group person has antigen in his RBC.

ABO Q35 auewsuiled "O" auens Qussid 2 ew_weid a5 3)055 FauLiLigmiaied
UG 9,671 @em et O Lim M) (hLiLImy.

A) A-Antigen
A oy ew1g 0T
B) B-Antigen
B oy ewrig sgar
C) No-Antigen
9 HTLY QTS @) Den v
D) A-Antigen and B-Antigen
g gger 'A' wppib 'B'

Correct Answer :- C) No-Antigen

135 714 09 Quonaestid — FAnIseng eT(LHS Wi
A) @. A& ismd
B) &. sonew@ gmioest
C) sa8&

D) gl Ligger

Correct Answer :- D) ygiewioril98ser
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136 sLlgner Gaapd eTesLiLiL’ L g

A) &psI
B) worenflgseaunssi
C) Gea&lpmi

D) GUGITATGV T

Correct Answer :- A) &gso0

137 58050 aferssis @uipplweus :

A) @ateEwanwmg
B) @i®afggmo Limessig wi
C) umg@wmg

D) GLI&®uUId

Correct Answer :- D) oo @uoi
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138 ser@pd Glumuiyd smoeptd G)&menevwyLd
2 oTeT% HaTayLd 6Teim] 2 gGUTT GIDBESe®6u
o168t aueSlymISGILd STLILNwiLh.

A) Feoi@smrLd

B) £aus85s o 6w

C) pvGs8)

D) el Gosemev

Correct Answer :- D) wenflGogemev

139 spysgs1b yewr @)506)5uie edewg)
QumpLedL g CGuiauLd WTLH FEETLY GVLDTE)
@ SFm DD WTHL_ W 7

A) LoTL_GVLD e D W e 6o

B) s

C) LoeflGogemev

D) sopBuigsen

Correct Answer :- D) seoyp@uwigsar



140 | pefiGosamer QauasrLim wrgmed eTpsLILIL L g ?

A) urg@gnser

B) 8smassngsey

C) Cenwspsy Lmg@umg

D) saflLoeud]

Correct Answer :- A) ung@gnger

141 preveuentd 9,FTL0Ld QFTILD (LLFeVT
BNGTD Femvd FHSGLD 6TeVTLD
ereneraieverwm”Gr_!

6TaS (LpLpS& LA L_au.
A) urg@uwrg
B) umg@sreer

C) Bmepad

D) U ATGTGV T[T

Correct Answer :- D) euarareumg
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142 Qp®EIsL b S&TEievLd GGINILD $Lg bS5l 61160
ST BOST M%) ailLg e

@s@pLLTaled 1455 GTGTILIG WiTg !

A) iaresTed
B) & GITGIT GV
C) @arare

D) & TGS

Correct Answer :- A) waresred

143wz BLOFFRouTwE, HeuehreT pesflaid, 2. Car.ar. & CGwrd @Ol FenS s FTibS e IH6T .
A) Dwame g
B) S@Liveapgmer
C) s®Loygth

D) @frewsas L1

Correct Answer :- A) @@poureuBgIemn
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144 epCaupgisefar ApLienii CuaLd LIPFBIS HTeVLD FTIbS BTG 615 7
A) UBDDILILSS]

B) wpg0lgmerermuiyid
C) saraufl prpLgl

D) 55@) wigSan

Correct Answer :- B) wpg0gmararmuflgLd

145 #19uCe g mFalGev Fow O pPseiGev
F13% 05 &5 $13501Cv CH153 7F FevrenL_udGev
... afGewr B5 9 LflFe0 9jLpHevCau

@aieuflasl’ @ o fweud.

A) smuLoneseuy
B) Q@) rmLoedBIs 919 H6iT
C) Souaung@uwi

D) @Gapavd

Correct Answer :- B) @umoelmis oy sar

72



146 gayevinsamanti Cumpp) Freveud) 9 BSTS LIMTQ WIS,

A) 9 gm) Ll g
B) RULL_SFnFST
C) sy

D) @aremeuwing

Correct Answer :- C) sibug

147 epetiny shssSEman epesiny LoBHSILT QLmBL senarti GLimed 2 ewiiggd LB 0)esTenTS L)% % ewTs S
6D :

A) 8As®OsLd
B) s
C) SmiuehsFapeLd

D) Brevigwmg

Correct Answer :- A) @fs®sLb
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148 FHSHLD THSLI LIT uenFHuieeT 2 miLitim@GLb

A) Oeuesriim
B) sl
C) au@p&ium

D) A Awiium

Correct Answer :- B) safuium

149 Qgredverifws Spiiytium@md wrrmed ur  LiuC L g ?

A) Osreodsmiug
B) @538 wi

C) uerbumgeTmg
D) LeuepEwmg

Correct Answer :- C) wesibimgestng

150 FeOILILL OIS UbG G4 WIFS Seoeveufler Lfld CLDD LoD VSSATATET HTeUem 6V 6T(LPBWIGUT :

A) &SNS T
B) prwsgse saleps Qau. @) umoel)misLd
C) Qp&or uTigzssTIS

D) Clgwsrpser

Correct Answer :- B) prwgsed saieps Glou. @)rmoedmigsLd
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